TPO 43 – Integrated Task

The reading passage and lecture both discuss different possibilities about how agnostids might have lived. The reading passage mentions different theories that bring up some explanations about their survival. However, the lecturer argues that these theories have serious weaknesses.

First, the passage asserts that since agnostids were the primary type of arthropods and arthropods were good swimmers and also active hunters, they may follow the same attribute. Nevertheless, the lecture puts forward the counterargument that predators usually have a great vision with large well-developed eyes. Yet, agnostids had such poor eyes that they are considered blind. Also, if they had been able to chase the prey with other sensitive organs, scientists would have found evidence about these organs in fossil records.

The reading passage then describes agnostids may have been dwellers on the seafloor to feed on dead organisms. However, the professor says that seafloor dwellers do not have the ability to move fast and far and they usually move slowly and they are localized in small geographic areas. In contrast, agnostids were spread in multiple areas and they were capable of moving fast. 

Next, the passage mentions that agnostids were probably parasites, since they are ancestors of modern-day arthropods that exist as parasites and live on primitive fish or the same larger species. The lecture, however, states that typical type of parasites does not engage with large populations. If the number of parasites increases too much, they may kill off the host. This would not go along with agnostids’ attribute. Due to the vast amount of fossilized individuals found, the population of agnostids was big in number. 




 




   
